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QUESTION 1

What are two consequences of using the Composite View pattern? 

A. Improves performance 

B. Avoids duplicate content 

C. Forces a whole-part dependency 

D. Allows tables to be reused in multiple locations 

E. Restricts all sub views to have a consistent view technology 

Correct Answer: BD 

 

QUESTION 2

You have been tasked with improving the availability of an existing three tier application. 

What is your first stop in evaluating what changes should be made to the architecture to achieve the goal? 

A. Monitor network traffic between tiers. 

B. Separate presentation from business logic. 

C. Identify and document all single points of failure. 

D. Cluster the presentation tier without session replication. 

Correct Answer: C 

 

QUESTION 3

Which four services are guaranteed to be present in a specification compliant Java EE container? 

A. Security 

B. Persistence 

C. Naming and messaging 

D. Remote connectivity 

E. Failover 

F. Lifecycle management 

G. Multithreading handling 

H. Load balancing 
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Correct Answer: ABDF 

 

QUESTION 4

Blue Berry Corporation, one of the biggest fruit traders in Canada, has the biggest competitor, Red Cherry 

100% Real QandAs | 100% Real Pass Corporation. Blue Berry uses a web application that is developed by using java
technologies, whereas Red Cherry\\'s web application uses non-Java technologies. Blue Berry plans to share business
sensitive, transactional data between the two systems by integrating them in a loosely coupled manner. 

Which technology should be used to this? 

A. JMS 

B. JCA 

C. XML over HTTPS 

D. RMI over IIOP 

E. JBI 

Correct Answer: CE 

 

QUESTION 5

Which three statements are true about inheritance? 

A. Inheritance helps to reuse existing code implementations. 

B. It should be possible to substitute the derived class for its base class. 

C. Inheritance allows you to modify the behavior of objects. 

D. Inheritance promotes encapsulation better than interfaces. 

E. The derived class must override all methods of the base class. 

Correct Answer: ABC 
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